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IRY GRATENEE (D)

Write 300 as a product of Simplif Work out ) 0 ) Solve: . ]
prime factors using index Implity .. 5 8 o | ) | Write 16" as a single power y=2x*-7x+4 Continue this sequence
notation. qxgxq+rxr \/_§+ —\/3_2 X is inversely proportional to of 2 y=4x-1 a,b,a+b, ___, ,
y
Rationalise the denominator x=15andy = 0.3 Find the value of
Solve 7 Make "x" the subject What is x when y = 4? 16 x 107
5(X2 +2x) = 73. —_— - - y is proportional to the
2+ 43 2 x 102 cube of x
rationalise the denominator _ 4+x Solve: When x = 2,y = 28.8
4425 y= — X+y=6 Write one sixth as a What is the value of "x"? Find x when y = 450
e w —3x y
—_ A straight line has a y-x=8 recurring decimal: 918 = 7%
V5 -1 gradient of 2 and passes
y is inversely proportional to| through the point (0, 4). What is the area of
2 Find the equation of the li Write V12 + V75 i a i i
X q ine rite vV V75 in the o that the diff rectangle with sides v45 |A triangle has sides 4, 5 and Calculate: 31_12
y = 5 when x = 4. form kv3. rove that the dirrerence dv30? 6.4cm. Its area is 10cm? 5 7
Find a formula linking x and between two consecutive an _ Ho.w Ior;g are the sides ofla
\& p=(2) a= _; 5) a:b=4:5andb:c=7:| SqUare nun;(t;(e;rs is always similar triangle with an area
’ 11. ' of 90cm?*?
Work out 2p - q Find the ratioa : ¢ Write the expression There are 5 cherry sweets, 4
Simplify fully: Write as a power of 2 x? - 6x + 19 in the form lemon sweets and 1 orange
H 2 -
3 Write down the four value (x +a)Y+b, sweet. A sweet is chosen at
x2+5x+4 6T x 274 x 49 Evaluate 1672 rlfor wt‘:‘ilch sinx :r_\é Su s random and eaten. Another
X2 —3x —28 ’ f(x) = 5% + 2 sweet is then taken. WHat is
- - - _1 teh probability of getting 2
Simplify fully; Th les in a triangl What is the equation of a Expand & Simplify: Solve F(x) = 10 different flavours?
x2 + 14x + 49 e_a“t‘f] €s ':_ alrfa;’%' ‘;are circle, centre (0,0) radius 4 | How many different 5-digit P >mpHty:
22— 49 . tr:n N e rallo : h : ed? whole numbers can be made (x-4)"-9
s the triangle right angled? using the digits: 2, 3, 4, 5,
What are the coordinates of and 6 when each digit can Solve the equation 8 sin x =
K ! Expand & Simplify: implify:
the turning point of the 2 —pl)(x " 5)(2)‘( \_/ 2) be used once only? 2.5 for the interval 0° to Slg’lpllf\/;1
curve y = x* - 6x + 30. Calculate the surface area of 720° 3a"x6a
- a cylinder with radius 8cm
Factorise . 2 of a number is 16.
. X and height 12cm =
4 workers can move 5 x2 yz What is the nth term rule: Simplify: 167 = 4 5 Solve :
38 15 24 35 implify: 167 = &7 i
tonnes of goods in 3 hours. 25 T 29 What is one quarter of the 11x - 3 = 9x + 25
How long would it take 6 SOLVE number?
workers to move 10 tonnes y=3.6to1ld.p. : .
Expand: Given 145x6.5 = 942.5 Solve :
of goods? 5 5 What are the upper and 5x+7 1 -2x S ) ) Estimate 5.1*
(X4+2x+1) (X +x+2) lower bounds? 2 = 71 What is 1.45x65? X“-6x+15=3x-5
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